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A man was assigned to find the average age of
a class of 13 students. By mistake, he included
the 35 yr old teacher as well and hence the

average went up by 2 yr. Find the actual average
age of the class.
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Section 1 - Paperl-English Language

No. of Questions: 10

Passage Questions (1-5):
Read the passage and answer the questions that follow:

“I could stand the aunts, but there are dozens of cousins, dreadful boys all of them, and | detest
boys! Some of them came to see me last Wednesday, but | was lying down, and when auntie came
to call me | went under the quilt and pretended to be asleep. | shall have to see them some time,
but | do dread it so.” And Rose gave a shudder, for, having lived alone with her invalid father, she
knew nothing of boys, and considered them a species of wild animal.

“Oh! | guess you'll like 'em. I've seen 'em flying round when they come over from the Point,

sometimes in their boats and sometimes on horseback. If you like boats and horses, you'll enjoy
yourself first-rate.”

“But | don't! I'm afraid of horses, and boats make me ill, and | hate boys!”

1) Why did Rose shudder?

A) She didn't like books.

B) She knew nothing of boys.
C) She saw a ghost.

D) She was feeling cold.

2) Why did Rose pretend to be asleep?

A
B
C
D

She didn't want to study.

She wanted to help others. TeCh OfWO rI d . I n

She was tired.
She didn't want to meet the boys.

3) How do the boys come?

A) Walking.

B) On boats or horses.

C) Running down a mountain.
D) In a carriage.

4) With whom had Rose lived?
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A) Her brothers.

B) Her aunts.

C) Her invalid father.
D) Her family.

5) Why did Rose feel apprehensive about her cousins?

A) It was a new experience for her.
B) She didn't get to see her father.
C) She wanted to study.

D) Her cousins were rough and rude.

6) Which of the following is a correct sentence with respect to use of words: complement or

compliment

A) The ship's compliment was reduced to below 80 percent due to a number of crew proceeding
on leave.

B)

The Captain received a big compliment from the Admiral for his successful mission.
C) | gave my complement to the lady on her cooking.

D) Girish received a huge complement from his girlfriend when he won the final match.

7) The phrase "Clean yourself up" means

A) to make yourself available Te C h OfWO rI d . I n

B) to make yourself invisible
C) to suit up for an occasion
D) to make yourself clean

8) Fill in the blank with correct prefix or suffix:

After many years he won the leg____ battle.

A) age
B) ary
C)al

D) ate
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9) Which of the following words is correctly spelt?

A) inalinable

B) inalieniable
C) inalienable
D) inalineable

10) Which of the following alternatives explains the phrasal verb "Connive at something"?

A) to arrive at some place that you have already been to
B) to ignore something that you know is wrong
)
)

C) to accept something that you don't know TeCh OfWO rl d ~ I n

D) to accept the right thing
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Section 2 - Paperl-Education and General Awareness
No. of Questions: 5

11) Which is the best way for disposing hospital wastes as per World Health Organization?

A) Landfilling
B) Recycling
C) Incineration
D) Composting

11) §¢ AYY PAOR QAN 6RGE GIVAHINIA ARG FAIAR AR ACAIN Al 2T ?

A) AIFea calGe

B) gmuieaia @aQ!
C) agieaa 9QQ

D) glie aqIaQ!

12) Which of the following features does not come under Indian Constitution unitary spirit?

A) Veto Over State Bills:

B) Integrated Judiciary TeCh OfWO rI d ! I N

C) Emergency Provisions
D) Bicameral legislature

12) oMYS Mg 606 6FAME AI1A QAR IRIQR NIGRI AUIREA 2I6A RIT?

A) G194 35 aT6a 666!
B) ange fuaadal

C) £201RIR1R @4ag

D) Gaide Guieaal

13) The NCTE has a regional committee in which of the following regions -

A) Bengaluru
B) Mumbai
C) Patna
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D) Ahmedabad

13) 89R4e PORgPR AUQ 6d0I6a IRETaR areRe ¢At 2RFC -

A) 696rRQ
B) 279

C) awal

D) 224QIQIQ

14) Corporal punishment for children falls under which article in the Indian Constitution?

A) Article 21
B) Article 7

C) Article 29
D) Article 26

14) daiaies gl QBN AFTEAR (51916 98) ARSI ARG 69¢ Al LUIFER 26 ?

nuse Tachofworld.In

B) el 9
C) dieu 9¢
D) ¥l 99

15) The Education Guarantee Scheme is a programme to set up alternative schools where there is
no formal schools within the radius of

A) 2 kms.
B) 1 km.
C) 3 kms.
D) 1.5 kms.

15) 840 801 6QI9QI 6208 FRF FMIPA AL AR I@ ANIRN 6AA0IER 12 3R 05aa FIER 6@16d ALVRR SN AIF
A) 4.
B)
C)
D)

D)
ja3)]

9
R
am
Q.

% D
jo3)}

@d.
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Section 3 - Paperl-Reasoning
No. of Questions: 5

16) How many letters are there in between 12th alphabet from the left and 8th alphabet from the
right, when letters are arranged as per the alphabetical order?

A) 9
B) 8
6) 7
D)6

16) 606069 Q4AIRI @ ARG AARYEY ANIAIN, FIAQ ¢ IBF 9d 1 GIRIIQ A ad AYER 6Q60IC 280 QR ?

ve  Techofworld.In

B)r
C)e
D)9

17) In a certain code language, if the word EDUCATE is coded as FEVDBUF, then how will the word
MARKET be coded in that language?

A) NSBFLU
B) NBSLFU
C) NUBSLF
D) NCSLEU

17) 9o 549 eale ausica, 9@ EDUCATE ae@ FEVDBUF aiesa 6ai@ 62108, 6069 6a@ auaisea MARKET ae@g @ad
610 @A ?

A) NSBFLU
B) NBSLFU
C) NUBSLF
D) NCSLEU

18) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.
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2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and |l taken together are NOT sufficient to answer the problem.

Adults in a city either ride a bicycle or drive cars. How many adults in the city ride bicycles?
I. 85% of the 20,000 adults in the city drive cars.
1. 17,000 adults in the city drive cars.

»1 Techofworld.In

C)3
D) 4

18) FANYL 999desa 636 902 :
0. 9@ QA4 | anaiie AV se9ig asaa AT |

A& Q€ |1 vgdal analia QA c29Ig asae 6T |
a. 98 QA4 | ver || aeag ¥QI0 S2IT 6669 NN ARA 60e! QIS AU 26T |

¥. 96 QQQd | ve* |l anag 9eI0 FuIde c06e | ANAQ AAQ 629 Al adug g6 |

ALAER YAAANER ANERAR ORIB 27 QIR ORI3 | ALAER 6260 TSl AL NS ANERR, ORI ?
l. Q20@ 90,000 QAAT AUIQ M8% QAR SRS |

1. 920 ©9,000 @02 43 QIR SRIB |

A) ¢
B) ¢
C)m
D) ¥
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19) Mohanlal starts driving his car towards east. After sometime, he turns left and continues to drive.

After some time, he again turns left and continues to drive. In which direction is Mohanlall driving
finally?

A) East

B) West
C) North
D) South

19) erlerqIa 38 QIeg gF AIE] SRR AIQA A6 | 38 ANG A6Q, 67 AN 9 GIF ARSI RIG aden | 38 Ana A6Q, 62 Q8 QINQ
QR QIF eRIRQ! 1A QF6R | 68868 6FIRAAIN 604 F6I6a AIF EAIREE ?

»= Techofworld.In
C)) 200!
D) @&a

20) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and |l taken together are NOT sufficient to answer the problem.

Isa#b?
l.L.a>b+1

Il.La<b+2

A) 1
B) 2
C)3
D) 4

20) FANYS 999Fesa 636 @aq :
¢. 96 @QQ4 | anaiia AV caaig A6 26T |

a5 Q94 Il vgdzl anaie AV ceelq aca 26T |
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qn. 9@ QA4 | e || aeag 9QI0 FAIAL 6069 ANAMIQ AR 6291 QIS AYIG 266 |

¥. 9@ Q96! | v || aeag 910 f2Ide 606e 8 AnAYa AR 69l Al adig QeS|

a#based?
l.La>b+¢

Il.L.a<b+9

»+ Techofworld.In

C)®
D) ¥
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Section 4 - Paperl-Teaching Aptitude

No. of Questions: 10

21) A higher order thinking skills question asked in the class will belong to which of the following
levels?

A) Knowledge

B) Synthesis

C) Understanding

D) Comprehension

21) 644160 QOQUARR 9@ A8 SAQ FBIGI QTG 94 F67IS PGS AIQ 60dTa 2SS 629 ?

vese T@achofworld.In

B) @sgda
C) agaqia
D) @6#162Q%

22) A teacher corrects a student who gives a wrong answer and then asks him to repeat the right
answer, politely. What do you think is the purpose of this reinforcement?

A) Humiliating the child for the response
B) Punishing the child for the response

C) Strengthening the correct response of the child
D) Praising the child for the response

22) 966 ZUIOR 92 AIN6A @R ARQ QAR 964 FIQQ TEARIL @63 I&* 61'A6Q B1GQ A0R VRAY YRAIRS QAR @I | A
92 QVIRQEQ QERANGQ Q'€ 6Q1R AQYRT ?

A) 9680 aidl daig 2AAIRe @dal
B) gagal aid Gaig @86 QA<

C) §ige a0@ gogaIg Aege @da
D) 9634l aisl QI géral @e

23) When was the UGC formally established?
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A) October, 1966 at New Delhi.
B) November, 1956 at New Delhi.
C) January , 1976 at New Delhi.
D) February, 1986 at New Delhi.

23) 953 6@6Q ALVFR N6 gOIFE 62108 ?

A) QUIIYER ARYRQ, €99 6Q
B) R2IA96a A60AQ, €89 6
C) quIdqea KIQaIa1 e (9.9 6Q
D) RUARER 6N, LT 6Q

24) Which five year plan particularly focused on ensuring one year pre-school education for children
entering primary school?

A) Eleventh Five Year Plan TeCh OfWO rld a I n

B) Tenth Five Year Plan
C) Ninth Five Year Plan
D) Eight Five Year Plan

24) o9 refe 6QI9RI QHie gladie AUILA6a g6Rd @Q2el JRINIRE AR ¥R 9da gIR AU d8l gRFe @89l aaea AR
cQRRI ?

A) Q108 Treaifie 6aIeRl
B) @8¢ ereQidie 6a19Q!
C) fea creeifie caigal
D) 287 ereaide 6Qi9Q!

25) The scheme of Operation Black Board (OBB) was launched in the year

A) 1985
B) 1986
C) 1987
D) 1988

25) @ od 20602Q QIR 691¢ (637) 6AINR AN FAARAR

A) e¢r8
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B) e¢rs
C) ecro
D) e¢rr

26) Show and tell is a peer teaching strategy. Which of the following instances indicate this strategy?

A) Each child brings an object to the class and discusses the story of the object
B) The teacher shows things and dictates notes to the whole class

C) Children observe different things and use video resources to tell

D) Children make use of the computer to observe things in detail

26) 624iIq 9e° Q2F 6208 @ AIINIES AR 6FIER | FIRYS AUQ 6R6E 9@ QEMEY gaRaNd ?

A) 9664@ TRl 6461 9@ 9 UGB G 9YQ QIR QAR ACRAPR ¥S
B) dee §5aq@e coud v ang 661 S 6AHIS
C) Gairier §6g #7aQ IR ALRIER AT 1er adaIq 66 2] 19210 @68

D) saeg@e afeas aieen 6age! QI GRINIEH AMFAR IeRIQ @ad

27) Which of the following are examples of Negative nonverbal reinforcement?

A) Expression of annoyance, smiling , impatience T h fW rI d I n
B) Expression of annoyance, frowning, smile eC O O :

C) Expression of annoyance, frowning, impatience

D) Expression of frowning, impatience, smile

27) R9Rge MQ 6a¢E FRIRINR 2GR QPINQER AQILAE ?

A) Gagea 2RS, 1RQ-91RQ 2391, 68N1RG!

B) Gadea z6e3, e, AR-A1Q 234!
C) F63ea 2643, 9i9, ydI1R0!

D) gis 26e4d, udieieel, ARQ-A1Q 2Q<!

28) Which of the following actions by teachers help students to construct their own thinking?

1. Teaching through textbooks and for examinations
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2. Looking for and appreciating one correct answer
3. Seeking student's point of view
4. Answering all questions put by students

5. Valuing students questions and urging them to find answers for themselves.

A) 3, 4
B) 3,5
C)1, 2
D)2,4,5

28) dses H9AYe QINIgFe cuQ cad QT @aQI QNI AILRIGINING F9Q SR FOR QERIER AR F6Q ?

Q. AI0Y93R FIUFER Y6 aa1El A6 AR
9. 64115 A0R QO CHRQ I G&rAl KAQ!

N, AT QTERIE R16Q1Q 607 KR
¥. SIRAIRE QIal dOAUARYR A7 9§ ARQAN 624!

8. FIQAIRE JgQ IRQ 6QQI 9 6QAMING YAA F6R 6HIFANQ FLQ!

»:] echofworld.In

B) .8
G) 49
D) 9,%,8

29) In educational institutions which of the following is considered as an antithesis of discipline?

A) Caste

B) Nationalism
C) Religion

D) Democracy

29) FRQIFGFR6R FANYE I 67T JHRIA YERITR! NIER &I AIRAN ?

A) Q1@
B) qio101@l
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30) The type of learners who prefer to use image, maps and graphic representation for learning is
referred to as

A) kinesthetic learner
B) auditory learner
C) visual learner

D) sensory learner

30) dadiniee gele, cawnier ddql alQ goed, ARG Yo §30 AAgIaRl RN KGR AR RaS, 6QANIRT
QRIAN

A
B
C

D

et Techofworld. In
64161 duelt s
QaueRe daiel

QCAQRAR Saleh

N S S S
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Section 5 - Paperll-Odia Language

No. of Questions: 15

31) G698 AIQ 6RAG IR A°YD IQ 3F?

A) &
B) @
C) g
D)@

32) ‘20’ @06 IYe ‘9ea’ udeq IR 1@ 6K QIS |

5 1 €Chofworld.In

C) 2a9@
D) zaa4

33) 767119 FEATIAIRT FUQ 6RGE ANAIFFOIQ AR ?

A) 6R161@
B) aqe
C) e

D) caa

34) ‘ucie’ 990 FAGCILERNUR EQ IS |

A) diaai
B) sl
C) eraia
D) ge12

35) AIgQ YS4 6QET R F0S 62MIEIER IY6R 6966 IRIR ARG W66
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A) 9
B) o
C)¥
D) 8

36) F6CIB FRIQ 6246 IR VAR §K?

A) 266
B) dg

C) dae
D) daié

37) ‘ae’ Ui MIeIQ FAILINYSI QAATYS IRE] QIR |

v Techofworld.In

C) zaqig
D) @4l

38) ‘eori@ 6201’ 2l QIS AQYRI QFEQ Qi1 |

A) 2ig A8 2igea At

B) 214Q 92272 64IR QIQIRS!
C) uie 69e!

D) 24 geial

39) ‘Qe6a 216 69 @4’ 9Fa 28 59a8 x|

A) 98 gIeQ

B) 2@ @8<l

C) &adey 9q@ 62el
D) g2@ ¢1aq!
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40) 6RIRE QG QLY - MOI6Q QAIg & 9RIQ AQ ?

A) Qeagy
B) Geaae
C) adqig
D) @«

41) ‘e68109” 90Q G0G6IZ6NUR §R AU |

A) 26069
B) 29696%
C) 609%
D) ¥ae

42) 'AQQ’ 905 609 2dica 07 a 62IRE?

veewas Tachofworld.In

B) auqisel
C) a1a0y 268l
D) Geiqisel

43) ‘gef’ 2dea ‘@A’ geya 6QIg6a 906 daq QI8 |

A) egel
B) zeIgl
C) aqa
D) aqal

44) AQQ 25 J16Q Qg8 — W0I6R UG @ geIa G6894

A) G6a99Q F6994

B) @9l 36494Q 36694
C) Qo Sea86

D) qiqy S6494
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45) ‘ear’ g0a anIgeqiue a0 QI |

v e Techofworld.In

C) ¥e
D) @19
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Section 6 - Paperll-Mathematics

No. of Questions: 15

46) If 3x + 12 =2x - 13, then x =

A) -20
B) -25
C) 20
D) 25

46) a8 3x+12=2x- 13,6069 X =

A) -20
B) -25
C) 20
D) 25

47) AABC and APQR are similar triangles such that side AB is proportional to side PQ. If the altitudes

drawn to the sides AB and PQ are 24 cm and 16 cm respectively and PQ = 4 cm, tﬁen what is the
length of AB?

) 12 cm

asen 1 €Chofworld.In

C)6cm
D) 16/3 cm

47) AABC & APQR 62Q8% aqa 8ge, 6a06@ AB aif PQ age 2igaide coia 628 | a8 AB & PQ aigee @@0! cal
AR 6QQG! ae1e6a 24 6ad 1e* 16 6afi ve* PQ = 4 6af c2iqaid, 6669 AB @ @9 6960 ?

A) 12 6ad
B) 8 sad
C) 6 ead
D) 16/3 ead

48) Set A={ 2, 3, 4, 8, 9}. How many pairs of co-prime numbers are there in the set A?
A) 2
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B)3
C)4
D)5

48) 699 A=( 2, 3, 4, 8, 9 }16Q4 A 0 A2-6712Q QA°HMNIQ 6RETIT JOIR 28T 2

A) 2
B) 3
C)4
D)5

49) An amount of ¥ 10,000 is invested for certain number of years at 12% per annum simple interest.
If ¥ 4,800 is the simple interest earned, then the number of years for which the money is invested is

>, Techofworld.In
C)3
D) 4

49) oide a0@ Q112% 6 3ag eaie od aie T 10,000 ddcaie eaiara | 2@ T 4,800 aee Qu A6Q, 6062 6@ od QI 6
AReaI 62108

A) 1
B) 2
C)3
D) 4

50) The number of marbles with Rahul is one-third of the number of marbles with Anuj. Anuj gives If
the difference between the number of marbles with Anuj and Rahul is 30, then what is the number

of marbles with Anuj?
A) 15
B) 25
C) 30
D) 45
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50) qigee aigea 8Ql AITH P AQES AU AR AITA TR IR-9o1ara 2T | Ae F2F AT AP IS QYRS AIWER Sl
AITH e AR AR Mo P4, 6069 ALES AIUER TR AITR QA P 6Q60 621 ?

A) 15
B) 25
C) 30
D) 45

51) In a triangle ADEF, side EF is extended to G such that angle «.DFG = 110° and angle «DEG =

65°. A is a point on DE and AF is the angle bisector of the angle 2DFE. What is the measure of the
angle «DAF?

A) 85°
B) 80°
C) 95°
D) 100°

51) 8ee ADEF e aig EF @ G adye dgie eaiied 6aad sa1d £DFG = 110° e sqi@ .DEG = 65° 62291 A seed
DE aasa 1@ @2 9% AF 6208 2DFE seiea 69160 QAR seia 2DAF @ g 6966 620 ?

e Techofworld.In

C) 95°
D) 100°

52) How many numbers below 90 and other than unity exist, such that the HCF of that number and
90 is unity?

A) 16
B) 17
C)18
D) 23

52) 90 @ @0 9e* 9@ MO1e 6R60IT ol 0BT, 60 6a2 Tae aaig ve* 90 6208 ¥ ?

A) 16
B) 17
C)18
D) 23
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53) A mobile phone is sold for X 7,830 after allowing a discount of 13%. What is the marked price of
the mobile phone?

A) % 8,500
B) % 9,000
C) 2 9,200
D) % 10,000

53) 13% Geid 629l a6 9@ saeiaM 6] T 7,830 6a & 2491 sn1Iam TR0 A8 g4 @' ?

A) % 8,500
B) % 9,000
C) 2 9,200
D) % 10,000

54) The ratio of students in 3 sections A, B and C of a class are 3:4:5. There is a proposal to increase
these seats by 50%, 60% and 70% respectively. The ratio of increased seats is

»uete Techofworld.In
C) 16:17:18
D) 15:24:35

54) saia sgaia 3 daia A, B 9er C 6a signies agaie 62ad 3: 4: 51921Q A9gde caigsn 50%, 60% 1er 70% <&
@*0QIg gaIe 023 | @86 @QQ@Q@ AR 6208

A) 14:15:16
B) 15:16:17
C)16:17:18
D) 15:24:35

55) If P = The set of multiples of 2 less than or equal to 30 and Q = The set of multiples of 3 less
than or equal to 30. Then (PN Q) =

A) {12,24)
B) {6, 12, 18, 24, 30}
C) {4,8,12,16,20,24,28}
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D){}

55) 2@ P = 2a qéoea 649 aiel 30 a2 anie @l @q 6269 v&* Q = 3a gdoea 649 el 30 a2 QIR F7 @7 6269 | 6069
PNQ)=

A) {12,24)

B) {6, 12, 18, 24, 30}
C) {4,8,12,16,20,24,28}
D){}

56) Which of the following is the largest 5 digit perfect square?

A) 96,100
B) 84,100
C) 99,225
D) 99,856

56) dafge AuQ 6a6d c2ad 5 ae 339 QéG;QQ @gd od 260 ?

A) 96,100

ssei0 | €CHOTWoOrld.In

C) 99,225
D) 99,856

57) What is the measure of each interior angle of a regular heptagon with side length 6 cm?

A) 120°
B) 128.57°
C) 134.28°
D) 140°

57) aig aa 6 6af §8a Safic AP g6eIe 2SY 6190 AIQ 9’6 ?

A) 120°
B) 128.57°
C) 134.28°
D) 140°
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58) The ratio of the present ages of Pranav and Keerthi is 6:7. Seven years ago, the ratio of their
ages was 5:6. What are the present ages of Pranav and Keerthi?

A) 42 years and 49 years
B) 49 years and 56 years
C) 56 years and 63 years
D) 63 years and 70 years

58) gee e adie QAR ea9a 2gale 6: 71 ae od g69, 62AIeS 2a2a 2QaIe 5:6 eIl gae e 1A QAR @0
6Q60 ?

A) 42 o 49 o T h fW |d I
B) 49 ad 56 od eC O Or - n
C) 56 od 63 od

D) 63 ad 70 ad

59) For any two sets Xand Y, X - (X-Y) =

A) X
B) Y
C) Y- X
D)Xny

59) ca cRI6d @aF 6QF X ve* Y aidl, X - (X-Y) =

A) X
B) Y
C) Y- X
D)Xny

60) A four digit perfect square is such that the number formed by first two digits is a perfect square

and the number formed by last two digits is also a perfect square. Which of these satisfies the
condition?

A) 2,536
B) 8,164
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C) 3,696
D) 1,681

60) 9@ o 2e 389 Q4 d YO 6a 9aN QRS AS QUG 906 THY 6208 1@ Y4 9F Y 688 Q0 AT QYA A0S Y A @
g4 Qd | 9gAIQ 6QUE Qé@ 908 @6Q ?

oo Techofworld.In

C) 3,696
D) 1,681
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Section 7 - Paperll-Social Science

No. of Questions: 15

61) Which among the following options is a CORRECT reason for the seasons to occur in different
parts of the Earth?

A) Earth has a perfectly round circular shape

B) Earth has a tilted axis of rotation

C) Earth is located at a third position from the sun in the solar system
D) Earth is the only planet of the solar system having human presence

61) 89Rge §e8gfe AuQ 6add gae1a §6q RINea aggde TR e AR QI0E ?

A) qagia e agd cain QRIRIQ 21Q5 218

B) Q2918 04 6oieadaal Qde a8 62a

C) 6QIrea6a Gae! QAIGOIR QO1a YIRea 0RE

D) 631asreasa 21 1@AIQ g2 6ad0I6a AIRG @0QE 628

62) Which among the following options is the hottest layer of the Earth?

5o 1 €Chofworld.In
C) Inner Core
D) Outer Core

62) 59Adic Seag@e AuiQ 6edd Q1R AQVIQ @67 3 ?

A) aIgIee

B) @eq

C) 2128 6999 28R
D) QIay 6294 28e

63) What does the colour Saffron in the National Flag stand for?

A) Sacrifice and Courage
B) Fertility of the land
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C) Life in movement and death
D) Peace and Truth

63) sIe1a acIRIea QI Rleral Q°F QILIA Y1 26T 2

A) @RaIe ¥e QleQ

B) efia a@@!

C) 91976@ 66 1&° 904
D) 418 e ag¥

64) A horse sacrifice ritual in the Vedic religion is usually known as

A) Vishwa Yagna

B) Purushamedha Yagna
C) Ashwamedha Yagna
D) Rajasuya Yagna

64) 630Q UCER 6AIGI AF ARE ARINEGS YT FINER FEIGEI

nawm | @chofworld.In

B) geasny af
C) aqen a8
D) qieiga a8

65) The poet Sugathakumari played an important part in which of the following protests?

A) Silent Valley Movement

B) Chipko Movement

C) Anti-Arrack Movement

D) Narmada Bachao Movement

65) @& gaaIQAIR! FYAYS FRIQ 694 ARINRER Y@ R4 9FRI goa QAR ?

A) QRssre RUIR 2ICRIRY
B) fasal zieaiee
C) Urc-2ieae AisIRR
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D) @4l 966 2I6RINR

66) A "School Garden" is included in which of the following spheres of the Earth?

A) Hydrosphere
B) Atmosphere
C) Geosphere
D) Biosphere

66) 92Q1IQ FINYE 6ALYEFR AUQ 6RATER IR "FNIRG QIR 2ASPS?

A) 2iR6e139Q
B) qsgi@ae
C) feaikaa
D) QicaRoa

67) Which schedule of the Constitution of India prohibits the transfer of tribal land to private parties

for mining

emseeane 1 €CHOTWOTI.IN

B) Third Schedule
C) Ninth Schedule
D) Twelth Schedule

67) 21000 QARG 684 dINIER #8HIQIR QI AT 9 29190 RERIQ A0S AR

A) Toa Qo1
B) q61a go1
C) /99 g1
D) Q/ea 9ot

68) January 26th, 1957 is known for which of the following reasons?

A) Constitution of Jammu and Kashmir came into force
B) Second Parliamentary term began
C) Second General Elections

D) Second five year plan terms started
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68) *IgaIe 99, @ (89 GRS 69 QNG AN FEIGE ?

A) @I @Y1 QAUL QITYRIN 62l

B) @010 2°2910 QITIRIR QR 6RYR
C) 2910 qriIea FeieR

D) 4619 are @dia 6aieql 28 2iea 624l

69) The term used in geography that means 'Half of the Earth' is

A) Globe

B) Pole

C) Grid

D) Hemisphere

69) Q6aIRea 4AE 99 QIR 2 6208 ‘GeRIR ZI’

ne 1 echofworld.In

C) ghg

D) saIRie

70) Who founded 'All India Harijan Sangh'?

A) Raj Narayan

B) Jai Prakash Narayan
C) Mahatma Gandhi

D) B.R.Ambedkar

70) ‘@< Qee1a 289 e’ 39 gial @Al ?

A) QAR FIAULAE
B) @ 9914 Q1IN

C) aQig)l Sl
D) .21a.216a90
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71) The German Indologist who is credited with the German translation of the holy Hindu texts, the
Rigveda is

A) Megasthenes

B) Karl Marx

C) Heinrich Roth

D) Friedrich Max Muller

71) 418 REAIENITEG, b 0Gg @ QI6R? Faa KR 2GRIR AZS AINISI AIRES

L= Techofworld.In

C) 6299 6a1|
D) §@Q auIg A6Ra

72) Which of the following statements is correct?

A) Nitrogen oxides can also be produced by lightning
B) Sulfur dioxide is not the cause of acid rain
C) Distilled water has a Ph of 8

D) John Evelyn coined the term Acid Rain

72) 89Rge YRQEIYFe NQ 604e Q0K 266 ?

A) 9RAI6 QIal FINESIERR APRE A T2 62AQAIEA
B) 2RaQ Q026G 27, 98I Q108 g6

C) 6800 goa6Q I 946 028

D) 8@ 1eae e, Qdl 400 6N FAYER

73) A Pro tem speaker is elected by approval of which of the following dignitaries?

A) By the President

B) By the outgoing Speaker

C) By the Prime Minister

D) By the members of Lok Sabha
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73) Q619 629 QIR MNIF AQEAIRR [EN IR A UG FIGE 228 ?

A) Q8A6S QI

B) 9214 6222QI Q1926 Qe
C) QSRS Qe

D) 619201 AQAIAIRE Q0

74) The river that passes twice through Tropic of Capricorn is

A) Mahi River

B) Congo River
C) Nile River

D) Limpopo River

74) 02a QI3 629 Q02 QAR ¥ 6298

e 1€chofworld.In

C) 1R Q1
D) @estisal @1

75) What was the main cause of Gandhi's Champaran Movement?

A) The security of rights of Harijans

B) Civil Disobedience Movement

C) Maintaining the unity of Hindu society
D) Solving the problems of Indigo workers

75) QBRI OAIOR 2CRINAQ J QIQ8 Q'8 Al ?

A) 20965 2YRIQ oS

B) QI0@@ a1y 2I6RINe
C) @9 afI9a I@6! QRIS age
D) adeal gieqiee aaaiia aaIe
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Section 8 - Paperll-Science

No. of Questions: *

76) Which reaction gives a preliminary idea of the presence of CO2 gas in the solution?

A) Ca(OH)2 + 2CO2 — Ca(HCO3)2
B) Ca(OH)2 + CO2 — CaCOs3 + H20
C) Mg(OH)2 + CO2 — MgCOs3 + H20
D) 2NaOH + COz2 — Na2COs + H20

76) 6ad godal @Qélsa CO2 cuiaa aadé daasa giade dIed 69@a ?

A) Ca(OH)2 + 2C0O2 — Ca(HCOa3)2
B) Ca(OH)2 + CO2 — CaCOs3 + H20
C) Mg(OH)2 + CO2 — MgCOs + H20
D) 2NaOH + CO2 — Na2COs + H20

77) Which among the following condition can decrease the rate of evaporation of liquids?

A) Decrease in pressure

B) Increase in pressure TeCh OfWO rI d . I n

C) Increase in temperature
D) Increase in humidity

77) 39R90 2Qgl MRIQ 699G 0aR AR ARG 2R 1A RAAIRLR ?

A) S96a g1a
B) Qa6a 98

C) e1aaigiea 9
D) 2ideiea g8

78) One Kilo-Watt-hours is equals to how many Joules?

A) 180000 J

B) 3600000 J

C) 540000000 J
D) 7200000000 J
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78) NQ QEMI-GIQ A9 6Q6C gM ARG AAIR ?

A) 180000 J

B) 3600000 J

C) 540000000 J
D) 7200000000 J

79) Choose the option that correctly represents a gram-positive eubacterium

A) Bacillus

B) Cyanobacteria
C) Rhizobium

D) Clostridium

79) 9@ 9iIN-088@ geueRtang Q]OGQ AGER 2dRgel §080 Qoeg____

nea | @chofworld.In

B) Quieriavieqdl
C) aIaseidan
D) sa18@9a

80) Find the INCORRECT statements with regards to Papilionaceous corolla

A) The largest petal is called Standard or Vexillum

B) The two smallest anterior petals are called keel petals
C) The standard petal overlaps two lateral petals

D) The two lateral petals are called keel petals

80) aififeridag ande cad SQAGE AOR g

A) Q9Q 9@ Qe QIS ARl 6RFRA QRIAI

B) Qa0 YOO IRCTAUR 6JCING AR 6ATR QRIAN
C) QQIE 699N QAT AICSAR 6a5Q ARG FEGY
D) 206 ai§ 6a651Aq @a 696R QalaN
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81) Select the chemical reaction in which conc H2SO4 shows oxidizing property?

A) H2S + H2SO4 — S + SO2 + 2H20

B) 2CH3CH20H — C2Hs0C2Hs + H20 (in presence of conc H2S04)
C) Na2COs3 + H2SO4 — Na2S04 + CO2 + H20

D) 2Al + H2SO4 — Al2(SO4)3 + 3H2

81) alaare godal 0ae @ag 6a92sa aearces H2SO4 28008 Slék\,lﬁ 696N

A) H2S + H2SO4 — S + SO2 + 2H20
B) 2CH3CH20H — C2Hs0C2Hs + H20 (erarsgs H2S04q 2033)

C) Na2COs3 + H2SO4 — Na2S04 + CO2 + H20
D) 2Al + H2SO4 — Al2(SOa4)3 + 3H2

82) Which of the following property is unique for crystalline solids?

A) They show anisotropic behavior Te C h OfWO rI d B I n

B) They show isotropic behavior
C) It does not have definite geometrical shape
D) It does not have ordered arrangement

82) Aage ced JEIAGT ITR AR i AR 2

A) sanise QU 6TAR 2icad gade @08

B) sanise AOFIRRIA 2icas gade ead
C) W2 708 QUAce s aIF

D) weiq 6@ GauId Q12

83) Calculate the momentum of a toy car weighing 0.4 kg and moving with a velocity of 2 m/s?

A) 0.8 kgm/s
B) 0.2 kg m/s
C) 0.3 kgm/s
D) 1 kg m/s
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83) 2 m/s AQ6Q96Q QIR 0.4 @Y BRAQ IR 6HRR RIQ QA A°6AG 6RES 629 ?

A) 0.8 kg m/s
B) 0.2 kg m/s
C) 0.3 kgm/s
D) 1 kg m/s

84) The produces Aflatoxin.

A) Aspergillus sp.
B) Rhizobium sp.
C) Fusarium sp.
D) Bacterial sp.

84) 2IFICOIFR agee eda |

vesssaws Tachofworld.In

B) amseidan 9Q 4.
C) qaden 9q Q.
D) cusqazin 99 &.

85) The outermost mucilage layer of the cell envelope in prokaryotes is

A) Plasma membrane
B) Cell wall

C) Glycocalyx
D) Cell plate

85) 6g1e1t3g6a 6aR ¥9aNd @ Y4 Q9 QYRR 90 6208

A) AR 67622
B) @8 @ig

C) RN
D) 69a 69¢
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86) Anacardium occidentale is classified as which type of fruit?

A) sorosis
B) nut

C)

D) pome

86) 2RIRIadan AFEEI 624 JRINQ TR ALEQA 64619S 62108 ?

A) sQsaida
B

C

QI AQAY Tw
Q61T AQa TR

)
)
)
) saif]

)

87) Arrange the liquids in order of increasing surface tension values

Mercury < Water < Ethanol < Benzene TeCh OfWO rI d i I n

Water < Mercury < Benzene < Ethanol
Ethanol < Benzene < Water < Mercury
Benzene < Ethanol < Mercury < Water

A
B
C
D

87) 998 6677 FlIR Q& @A6a 00gEe ARIg

>

I < @@ < QUM < 6Q6HHR
B

C

89 < dIeQ < QR < QaRMm

QUM < 6QEIR < @9 < AR

)
)
)
)

D) 626912 < aiem < €100 < 89

88) Calculate the work done, if a force of 9 N is acting upon an object and the displacement recorded
is at 8 m towards the direction of the force.
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88) 0@ 4@ g AA6R FIMY ARSI 97 9 N §4¥° IRQ 2960 FFIAS 8 M 94, 666° QI @ AFAIS AIA @
|

A) 50J
B) 56J
C)72J
D) 85J

89) A plant disease called citrus canker is caused by a

A) Bacteria
B) Fungi

C) Yeast

D) Protozoans

89) AIRGY KIQA FIFR 1@ 282 sale T RIQEIQ s2iRa

v Techofworld.In

C) gena
D) 6916c16R1Q

90) Which one of the following cell organelle is referred to as Disposal units?

A) Vacuoles
B) Lysosomes
C) Cell wall

D) Cytoplasm

90) F9Rge 69 ACICAR FRIQ 6RAEQ FAIAR YFE AR FEIAIN ?
A) gl

B) Aiasaisan

C) ealdie g9t

D) eeia ada!
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1B 31| D 61 | B
2|D 32|C 62| C
3| B 33|D 63| A
4C 34| B 64 | C
50A 35/A 65| A
6B 36| D 66 | D
7D 37| B 67 | A
§|C 38|B 68 | A
g€ 39| C 69 | D
10| B 40 | B 70 | C
11| C 41 | C 71 | D
12| D 42| C 72 | A
13| A 43| D 73 | A
14 | A 4 | B 74 | D
15| B 45| B 75| D
16 | D 46 | B 76 | B
17 | B 47 | C 77 | D
18| A 48 | D 78 | B
19 | B 49 | D 79 |D
20 A 50| D 80| D
21 |B 51| D 81| A
22 (C 52D 82| A
23 |B 53 |'B 83| A
24 | A 54|D 84 | A
25 |C 55| B 8 | C
26 | A 56| D 86 | B
2l € 57| B 87| C
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